1/od?/ dp™d ™Y Gev]

Ratio to ATLAS

=
<
[N

|
o
R

T

[HEN
o
W

—
<
n

[EEY

0.5

13000 GeV pp

top
T

P

— T
(ATLAS semileptonic ttbar)

=
| |||||||

Rivet 3.1.10, = 3.5M events

= 1
- ey
W,
— — ™M
©
B 10
™
-
— W ATLAS =R
— —A— Pythia 6.428 370 1%
~ --8-- Pythia 6.428 391 15
B Pythia 6.428 default e
----- ¥ Pythia 6.428 pro-q2o S
)
= =RS
— o
| )
1 | | | | | | | | | | | | | [y | I =
: T | T T T T | T T T T | T T T T |:
— =2
- P .
| & ¥ i
L —0.5
A B Lo Lo |
500 1000 o 1500 barit 2000
t,ha :
p"* [GeV], Iy} in [0,1]



	Contents
	Page 1


